
Deriválás 

 

Alapderiváltak 

Elnevezés Szabály Példák 

D1 (𝑐)′ = 0 

(5)′ = 0 

(𝑐𝑜𝑠 𝜋)′ = 0 

(𝑙𝑛 5)′ = 0 

(𝑒2)′ = 0 

D2 (𝑥𝑛)′ = 𝑛𝑥𝑛−1 

(𝑥8)′ = 8𝑥7 
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D3 (𝑥)′ = 1 (𝑥)′ = 1 

D4 (𝑒𝑥)′ = 𝑒𝑥 (𝑒𝑥)′ = 𝑒𝑥 

D5 (𝑎𝑥)′ = 𝑎𝑥 ∙ 𝑙𝑛 𝑎 (3𝑥)′ = 3𝑥 ∙ 𝑙𝑛 3 

D6 (𝑙𝑛 𝑥)′ =
1
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 (𝑙𝑛 𝑥)′ =

1

𝑥
 

D7 (𝑙𝑜𝑔𝑎 𝑥)
′ =

1

𝑥
∙
1

𝑙𝑛 𝑎
 

(𝑙𝑜𝑔6 𝑥)
′ =

1

𝑥
∙
1

𝑙𝑛 6
(=

1

𝑥 ∙ 𝑙𝑛 6
) 

(lg 𝑥)′ = (𝑙𝑜𝑔10 𝑥)
′ =

1

𝑥
∙

1

𝑙𝑛 10
(=

1

𝑥 ∙ 𝑙𝑛 10
) 

D8 (𝑠𝑖𝑛 𝑥)′ = 𝑐𝑜𝑠 𝑥 (𝑠𝑖𝑛 𝑥)′ = 𝑐𝑜𝑠 𝑥 

D9 (𝑐𝑜𝑠 𝑥)′ = −𝑠𝑖𝑛 𝑥 (𝑐𝑜𝑠 𝑥)′ = −𝑠𝑖𝑛 𝑥 

  



Elnevezés Szabály Példák 

D10 (𝑡𝑔 𝑥)′ =
1

𝑐𝑜𝑠2𝑥
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D11 (𝑐𝑡𝑔 𝑥)′ = −
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D12 (𝑠ℎ 𝑥)′ = 𝑐ℎ 𝑥 (𝑠ℎ 𝑥)′ = 𝑐ℎ 𝑥 

D13 (𝑐ℎ 𝑥)′ = 𝑠ℎ 𝑥 (𝑐ℎ 𝑥)′ = 𝑠ℎ 𝑥 

D14 (𝑡ℎ 𝑥)′ =
1

𝑐ℎ2𝑥
 (𝑡ℎ 𝑥)′ =

1
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D16 (𝑎𝑟𝑐𝑠𝑖𝑛 𝑥)′ =
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 (𝑎𝑟𝑐𝑠𝑖𝑛 𝑥)′ =
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D17 (𝑎𝑟𝑐𝑐𝑜𝑠 𝑥)′ = −
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D20 (𝑎𝑟𝑠ℎ 𝑥)′ =
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√𝑥2 + 1
 (𝑎𝑟𝑠ℎ 𝑥)′ =

1

√𝑥2 + 1
 

D21 (𝑎𝑟𝑐ℎ 𝑥)′ =
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√𝑥2 − 1
 (𝑎𝑟𝑐ℎ 𝑥)′ =

1

√𝑥2 − 1
 

D22 (𝑎𝑟𝑡ℎ 𝑥)′ =
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1 − 𝑥2
 (𝑎𝑟𝑡ℎ 𝑥)′ =

1

1 − 𝑥2
 

 

  



Deriválási szabályok 

Elnevezés Szabály Példák 

DSZ1 (𝑐 ∙ 𝑓)′ = 𝑐 ∙ 𝑓′ (8𝑥6)′ = 𝟖 ∙ 𝟔𝒙𝟓 = 𝟒𝟖𝒙𝟓 
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)
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=
𝟐

𝟑
𝒙𝟑 

DSZ3 (𝑓 ± 𝑔)′ = 𝑓′ ± 𝑔′ 

(𝑥3 + 7𝑥)′ = 𝟑𝒙𝟐 + 𝟕𝒙 ∙ 𝒍𝒏 𝟕 

(𝑠𝑖𝑛 𝑥 − 𝑙𝑛 𝑥)′ = 𝒄𝒐𝒔 𝒙 −
𝟏

𝒙
 

DSZ4 (𝑓 ∙ 𝑔)′ = 𝑓′ ∙ 𝑔 + 𝑓 ∙ 𝑔′ (𝑥4 𝑐𝑜𝑠 𝑥)′ = 𝟒𝒙𝟑 ∙ 𝒄𝒐𝒔 𝒙 + 𝒙𝟒 ∙ (−𝒔𝒊𝒏𝒙) 

DSZ5 (
𝑓

𝑔
)
′

=
𝑓′ ∙ 𝑔 − 𝑓 ∙ 𝑔′

𝑔2
 (

𝑠𝑖𝑛 𝑥

𝑥3
)
′

=
𝒄𝒐𝒔(𝒙) ∙ 𝒙𝟑 − 𝒔𝒊𝒏(𝒙) ∙ 𝟑𝒙𝟐

(𝒙𝟑)𝟐
 

DSZ6 (𝑓(𝑔(𝑥)))′ = 𝑓′(𝑔(𝑥)) ∙ 𝑔′(𝑥) 
(𝑠𝑖𝑛(𝑥5))′ = 𝒄𝒐𝒔( 𝒙𝟓) ∙ 𝟓𝒙𝟒 

(7𝑐𝑜𝑠 𝑥)′ = 𝟕𝒄𝒐𝒔𝒙 ∙ 𝒍𝒏 𝟕 ∙ (− 𝒔𝒊𝒏 𝒙) 

 

DSZ7 (𝑓𝑔)′ = (𝑒𝑙𝑛 𝑓𝑔)
′
= (𝑒𝑔∙𝑙𝑛 𝑓)′ = 𝑒𝑔∙𝑙𝑛 𝑓(𝑔′ ∙ 𝑙𝑛 𝑓 + 𝑔 ∙ (𝑙𝑛 𝑓)′) = 𝑓𝑔 ∙ (𝑔′ ∙ 𝑙𝑛 𝑓 + 𝑔 ∙ (𝑙𝑛 𝑓)′) 

Példa 1 

(𝑥𝑥)′ = (𝑒𝑙𝑛 𝑥
𝑥
)
′
= (𝑒𝑥∙𝑙𝑛 𝑥)′ = 𝑒𝑥∙𝑙𝑛 𝑥 ∙ (1 ∙ 𝑙𝑛 𝑥 + 𝑥 ∙ (𝑙𝑛 𝑥)′) = 

= 𝑥𝑥 ∙ (1 ∙ 𝑙𝑛 𝑥 + 𝑥 ∙
1

𝑥
) = 𝒙𝒙 ∙ (𝒍𝒏 𝒙 + 𝟏) 

Példa 2 

((𝑠𝑖𝑛 𝑥)𝑐𝑜𝑠𝑥)′ = (𝑒𝑙𝑛(𝑠𝑖𝑛 𝑥)𝑐𝑜𝑠 𝑥)
′
= (𝑒𝑐𝑜𝑠 𝑥∙𝑙𝑛(𝑠𝑖𝑛 𝑥))

′
= 

= 𝑒𝑐𝑜𝑠 𝑥 𝑙𝑛(𝑠𝑖𝑛 𝑥) ∙ (− 𝑠𝑖𝑛 𝑥 ∙ 𝑙𝑛(𝑠𝑖𝑛 𝑥) + 𝑐𝑜𝑠 𝑥 ∙ (𝑙𝑛(𝑠𝑖𝑛 𝑥))′) = 

= (𝑠𝑖𝑛 𝑥)𝑐𝑜𝑠 𝑥 ∙ (− 𝑠𝑖𝑛 𝑥 ∙ 𝑙𝑛(𝑠𝑖𝑛 𝑥) + 𝑐𝑜𝑠 𝑥 ∙
1

𝑠𝑖𝑛 𝑥
∙ 𝑐𝑜𝑠 𝑥) = 

= (𝒔𝒊𝒏𝒙)𝒄𝒐𝒔𝒙 ∙ (− 𝒔𝒊𝒏 𝒙 ∙ 𝒍𝒏(𝒔𝒊𝒏 𝒙) +
𝒄𝒐𝒔𝟐 𝒙

𝒔𝒊𝒏 𝒙
) 

 


